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FORENSIC SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. Mathew Orfila is considered the father of :

(A) Forensic Serology (B) Forensic Toxicology
(C) Forensic Medicine (D) All of the above
2. The following method is used in the systematic search of evidence at the scene of crime :
(A) Spiral method (B) Grid method
(C) Zone method (D) All of the above

3.  Match the following :

List 1 List II
(a) Bertillonage (i)  Fingerprint
(b) MOB (i) Anthropometry
(c) Francis Galton (iii) Blood grouping
(d) Landsteiner (iv) Modus Operandic Bureau
Codes
(@ ® () @
A) O @) ) (@
B ) @) O i)
© @) @) @)
D) (v @ @ i)
4.  Forensic entomology is the branch of Forensic Science dealing with :
(A) Pollen grains (B) Narcotics
(C) Insects (D) Skeletal Remains

J—8208 2
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5.  Arrange in proper sequence,
According to the trial in a criminal case :
(i) Cross examination
(i) Examination in-chief
(iii) Re-examination

(iv) Charge formation

Codes :
(A) (), (iv), (iii) and (ii)
(B) (iv), (ii), (i) and (iii)
(©) (i), (iii), (i) and (iv)
(D) (@v), (i), (ii) and (iii)
6.  Match the following :

List 1 List 11
(a) NAA (i) Three dimensional view
(b) Mass spectrophotometer (i) Crystalline structure
(c) Stereo microscope (iii) Elemental profile
(d) X-Ray diffraction (iv) Molecular Structure
Codes :

(@ ® () @
(A) (v) @) (@) ()
(B) (@) (i) (@v) @
(© @) Gv) @& ()
(D) (@) @) @ ()

7.  Fingerprint region of the Infra Red spectra lies between :

(A) 23-53p (B) 6.6-14pn
(C©) 37-53pn (D) 43-63pn

8.  Soft X-rays analysis is useful in examination of :
(i) Hidden objects
(i) Old master painting
(iii) Jewellery
(iv) Artificial leather

Codes :
(A) (i) and (ii) are incorrect (B) (i), (iii) and (iv) are correct
(C) (iii) and (iv) are correct (D) (), (ii), and (iv) are correct
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10.

11.

12.

13.

Arrange in a proper sequence :

(i) Reverse phase chromatography
(i) Partition chromatography

(iii) Adsorption chromatography
(iv) Gas chromatography

Codes :

(A) (iii), (ii), (iv) and (i) are correct
(B) (i), (iii), (iv) and (ii) are correct
(C) (ii), (iii), (i) and (iv) are correct
(D) (iv), (iii), (ii) and (i) are correct

The numerical aperture of oil immersion type objective lens of microscope varies
between :

(A) 02-05 (B) 05-08 (C) 08-1 (D) 1-14

Proportion of Carbon monoxide in air which is fatal on over night exposure :

(A) 10,000 ppm (B) 4,000 ppm (C) 2,000 ppm (D) 1,000 ppm

To meet the Euro II requirement, the lead contents in Gasoline should be :

(A) 0.013 gm/1t (B) 0.005 gm/1t (©) 0.05 gm/It (D) 0.5 gm/lt

Assertion (A) : Methyl alcohol is poisonous for human beings.

Reason (R) : Because on metabolism methyl alcohol forms formal dehyde as final
product.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true



10.

11.

12.

13.

(i), (i), (iv) TR (i) ¥ €1
(i), (i), (iv) 3R (ii) ¥ €1
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(iv), (i), (if) TR (i) =& &1
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BAIE
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14.

15.

16.

17.

18.

Match the following :

List 1 List 11
(a) Cocaine (i) Hypnotic
(b) Dia zapam (i) Stimulant
(c) Chloral hydrate (iii) Hallicinogen
(d) Heroin (iv) Tranquilizer
Codes

(@ @ (o @
(A) @ @) @G (1v)
(B) (@v) @) @) (i)
© @ G@v) @ (i)
(D) @@ @ () (v)

Phenothiazines derivatives are a notorious headache to toxicologists because :
(A) It binds to fatty tissues (B) It binds to carbohydrates
(C) It binds firmly to tissue protein (D) None of the above

Antigen - Antibody reaction is called as :
(A) Clotting (B) Agglutination

(C) Fermentation (D) Condensation

HLA region is located on which of these autosomal chromosomes :
(A) 18t (B) 2nd (C) 6th (D) 16th

Match the following :

List I List I1
(a) HLA (i)  Crime scene reconstruction
(b) Blood scattering pattern (i) Drowning
() Diatom (iii) Presumptive test for blood
(d) Luminol test (iv) Non RBC Antigen
Codes
(@ ((b) () (@
(A) Gv) (D) @) ()
(B) Gv) @ (@) (D)
© @) @ G @)
(D) @) (@) @ G



14.

15.

16.

17.

18.
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19. Personal identification process from blood and RBC enzymes is based upon their :
(A) Mutation (B) Hybridization

(C) Polymorphism (D) Polymerisation

20. The following serum proteins are found in blood serum :

(i) PGM
(i) Hp
(i) EsD
(iv) Gc
Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct
(C) (i), (ii) and (iii) are correct
(D) (ii) and (iv) are correct

21. 0.2 mm pistol cartridge is a following cartridge :
(A) Pin fire (B) Centre fire
(C) Rimfire (D) None of these

22. Assertion (A) : The decrease in barrel length increases projectile velocity.
Reason (R) : It increases pressure inside the barrel.
Codes :
(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false

23. Snap haunt is a following weapon :
(A) Match lock (B) Flint lock Muzzel loader
(C) Percussion lock (D) Wheel lock

J—8208 10



19.

20.

21.

22.

23.
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24.

25.

26.

27.

The following are the parts of a ‘rifle” :
(i) Bolt

(i) Extractor

(iii) Smooth barrel

(iv) Ejector

Codes :
(A) (iii) and (iv) are correct (B) (i), (ii) and (iii) are correct
(C) (iii), (ii) and (iv) are correct (D) (i), (ii) and (iv) are correct

The following explosives are secondary explosives :

(i) Lead azide

(i) RDX

(iii) Fulminate of mercury

@iv) T.N.T.

Codes :

(A) (i) and (ii) are correct (B) (ii) and (iii) are correct

(C) (ii) and (iv) are correct (D) (i), (ii), (iii) and (iv) are correct

Two features that make hair a good subject for establishing individual identity are :

(A) Its cuticle and morphology

(B) Its length and thickness
(C) Its diameter and colour
(D) Its resistance to chemical decomposition and its ability to retain structural features

over a long period of time

The hair is pushed out of the follicle causing the hair to be naturally shed. The hair
growth is said to be in :

(A) Anagen phase of growth

(B) Catagen phase
(C) Telogen phase
(D) All of the above
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25.

26.

27.

(A) (i) 3R (iv) & T (B) (i), (i) 3 (iii) T ¥
(C) (i), (ii) 3R (iv) & T (D) (), (i) 3R (iv) T& ¥

fr=fafea faeres fodaw faopes T :

(A) (i) 3R (if) & €1 (B) (i) 3R (iii) W& ¥
(C) (i) 3R (iv) T F) (D) (), (ii), (i) 3R (iv) T E1
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(
(
(
(D) ST |t
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28.

29.

30.

31.

The first synthetic fibre was marked as :

(A) Polyster (B) Acrylic (C©) Nylon (D)

What is polymer ?

(A) Two or more atoms held together by chemical bonds
(B) A substance composed of a large number of atoms
(©) A molecule with high molecular mass

(D) A basic unit of molecule

The best way to locate and characterise a seminal stain is to perform :

(A) The acid phosphatase color test
(B) To carry out DNA typing

(C) Microscopic test for spermatozoa
(D) None of the above

Match the following :

List 1 List 11
(a) Compression mark (i)  Screw driver
(b) Sliding mark (ii) Bullet
(c) Radial fracture (iii) Vehicle
(d) Skid mark (iv) Hammer
Codes :

(@ ((b) (o (@
(A) @O G @) @)
(B) (v) @) @ @)
(© @ (@v) @) @
(D) (@v) @) G (i)

J—8208 14
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28.

29.

30.

31.

Yo Hyifod wn f= €
(A) Tdiferex (B) Tshfcteh (C) rEaH

iR R ?
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Foe HIfT :

e 1 get 11
(a) TEfae (i) TR FEN
(b) =9 forg (i) =l g8 el
() Yfeaa TR (iif) om&H
(d) = (fepe) & frem (v) e
HIg:

(@ (b)) () (@
(A) (@) @) (i) (iv)
(B) (v) @) @ (i)
© (@) (@v) (@) @
(D) @v) (@) @) (i)
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32. Birefringence is :
(A) A difference in two indices of refraction exhibited by most crystalline materials
(B) A process of separating light into its component colours

(C) Property used to characterise two substances glass and soil

(D)

None of the above

33. Ina multi layered fragment of paint, extremely important identifying characteristic is :
(A) Colour of layer

(B) Its hardness which depends on its age

(C) The pigments

(D)

The sequence of layers

34. The study of soil constitute an independent branch of science known as :
(A) Pedology (B) Environmental study
(C) Mineralogy (D) None of the above

35. Assertion (A) : The change in angle of tool application and pressure on it in striation
tool marks will not have any influence on its nature.

Reason (R) : These parameters do not change the ridge distribution in striation
tool mark.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

36. Ruxton case is known for :

(A) Videographic skull super imposition
B) Photographic skull super imposition
Audiographic skull super imposition

)
D) Facial reconstruction from skull

J—8208 16



32.

33.

34.

35.

36.

W@WW%:
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& 3T |
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B) (A) 3R (R) S Terd ¥ |
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T Y S SIS
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37.

38.

39.

40.

41.

15t milk incisor erupts in the age of :
(A) 6-7 months (B) 3 -4 months
(C) 5-7 months (D) 9 - 10 months

Arrange the following technologies of personal identification in their chronological
order :

(i)  Portrait parle

(i) Photographic skull superimposition
(iii) Computer aided facial reconstruction
(iv) Videographic skull superimposition
Codes :

(A) (i), (ii), (iii) and (iv) are correct ~ (B) (i), (i), (iv) and (iii) are correct

(C) (i), (ii), (iv) and (iii) are correct (D) (iii), (ii), (iv) and (i) are correct

Craniometry is technique :
(A) To measure skull (B) To measure pelvis

(C) To measure sternum (D) To measure long bones

Juxtaposed charts are meant for :
(A) Examination of indentation
(B) Effective presentation of comparison process to the court
(C) Examination of forged writing
(

D) Examination of traced forgery

Contemporary standards of handwriting relate to :
A) Standard writing of different period

B) Standard writing of same period

C) Standard writing of different individual

D) Standard writing of same individual
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37.

38.

39.

40.

41.

TH 39 A sk (<) ford og § o ® 2

(A) 6-7T9 (B) 3-47H () 5-79
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() e e
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HIg:

(D)

(A) (i), (ii), (iii) 3TR (iv) & § (B) (i), (i), (iv) 3T (iii) W& &

(©) (i), (i), (iv) 3R (iii) & &

U T foaH (Shimgl) dehie § ¢

(A) WISt Sl ATl (B)  SATOT Y1 <hl HIGHT
(C) BTl sl TG hl |G (D) orwsit 3tfeerii il AT
ey = (SeeiEe 9e) i HHRY

(A) T I ThE0

(B) hiE H eI Hlshal sl YuTell i
(C) Tkl TEd o1 qd&l

(D) TSl STeTErS o1 qer

TG & THHTCA HHH Tt ¢
(A) Tafv= w89 & 9 oEq

(B) SHI HHT 1 Hh G

(C) Tafvm =afeii o wrek orea
(D) SHI =AfK & HH G
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(D) (i), (i), (iv) 3R (i) T &
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42.

43.

44.

45.

Assertion (A) : Identification of author of forged signature may be possible in
simulated forgery.

Reason (R) : Because it is a double action process where forger tries to hide his
own writing habits unsuccessfully.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A)is true and (R) is false

(D) (A) is false and (R) is true

Edgeoscopy and poroscopy used in fingerprint identification are :
(A) Level I characteristics

(B) Level II characteristics

(C) Level III characteristics

(D) Level IV characteristics

Copious haemorrhage is in which of the following wounds ?
(A) Contusion

(B) Lacerated

(C) Abrasion

(D) All of the above

The of the edges will show that the wound has been inflicted within few
hours before death.

(A) Retraction (B) Putrefaction

(C) Tumefaction (D) Mummification
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42.

43.

44.

45.

YT (A) : STTFHA TSN § Tohell TR o @ i T HEAl TG 8 Fohdl ©
Weh (R): il I8 Tk e fonan i wiehan ¥ Sl Sordrsl o1 ofEe gl afedl

STHEST § I &1 FaeT HLa |
HIg
(A) (A) 3R (R) 1 & |
(B) (A) 3R (R) i TTerd ¥ |
Q) (A) T € T (R) T € |
(D) (A) 7T € iR (R) W&t ¥

iSRRI 3R GRIRrdt Sfa-s e § W 2 |
(A) =R & A0
(B) <UL % A&
(C) <UL & A&

(D) <OV % A

Frfafed =& 9 form =1 | wifed T 2 €72
(A) Hfe =

(B) ferditol e

(C) 3Tl =E

(D) ST |t
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46.

47.

48.

49.

50.

Read the following paragraph and answer the questions No. 46 to 50 :

A dead body hit by a vehicle in a pool of blood was found on the highway. Some soil,
broken head light glass, tyre marks, skid marks of vehicle were also found on the spot.

The following is the Corpus detecti evidence in this case :
A) Scattered blood and blood stains
B

~—

(
( Dead body
(C) Skid marks
(D) Broken head light glass

The time of death of the deceased can be determined by the presence of :
(A) Skid marks (B)  Scattering of blood
(©) Lividity (D) Injuries on the body

Tyre marks on the road can be lifted by :
(A) Plaster of paris casting (B) Tracing method
(C) Woods metal (D) All of these

The speed and size of the vehicle can be determined by :
(A) Scattering of blood (B) Position of the deceased on the road
(C) Skid marks (D) Presence of soil

The best method of identification of the vehicle from broken head-light glass beam is :
A) Colour of broken head light glass
B

~—

Curvature on the glass

C) Refractive index of glass

(
(
(
(D) Fitting of fallen glass fragments into the broken head light beam

-00o0-
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46.

47.

48.

49.

50.

ffefiae Temsr @i ufew 3 997 (46 @ 50 d ) &7 ST SHIT |

T Td IR TR R fier 9 foreht amea = st ail off 3R 98 T ot o | el 91| §S
fogt, Ts-wee &1 221 @i, 2R T, 9 & wHie fag off geerea ¥ fier |

38 59§ Frefafed wig i @eg ©
(A) foEU & e W * e
(B) ¥ ¥R ()
(
(

Tas%k & A & GHT I 39t sufeafa @ fruffa fean s @war 2 ¢
(A) wHR-fI= (B) T o foratd
(C) hIA-HTe e (D) IR ¥ =@

TgFh T UL R & T2 1 308 ISWN 5T kel ¢
(A) TR M URE % | (B) @ fafy
(C) g=H Ul ¥ (D) W 9ft ¥

TR ot T TR TR <A1 FHIRor 30 fopan S Tehan © -
(A) T 1 T (B) HSh W Has i ferfd
(C) =Ee-fa= (D) fugl sl Sufeerfq

o F 22 g TS-TEe 1 hid aTe ki Haraw ferre fafy &
(A) T2 T TS-wmEe F A B

(B) i W TSI ek @Y
( .
(

-00o0-
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